\\dcOT\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.7-12.dwg

<) Dunbarton.

CORPORATION
868 MURRAY ROAD, DOTHAN, AL 36303

ACHIEVER "ES"

Composite Frame System
Center Hinged Patio

Utilizing a Fiberglass Door Panel
INSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th
Edition (2020) Florida Building Code (FBC) structural requirements
excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing
or stucco.

When used in areas requiring wind borne debris protection this
product is required to be protected with an impact resistant covering
that complies with FBC Sections 1609.1.2 & R301.2.1.2.

Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered
architect.

74.50" MAX. O.A.

74.50" MAX. O.A.

FRAME WIDTH

FRAME WIDTH

82.00" MAX. O.A. FRAME HEIGHT

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Retangular Glazed
w/ Decorative Inserts

Retangular Glazed

Typical elevations, design pressures & general notes

Door panel details

Horizontal cross section

Vertical cross sections

DESIGN PRESSURE (PSF)

Vertical cross sections

Buck & frame anchoring

N|ON O A [WIN|—

Bill of materials, glazing details and components

FIBERGLASS | 74.50" X 82.00"

35.75" X 79.00"

21.00" X 63.00"| +50.0 -55.0

August 11, 2020

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

FBPE Registry No. 9813

, DESIGN RW

DUNBARTON  ACHIEVER "ES”
INSWING "NON—IMPACT”
PRESSURES & GENERAL NOTES

TYPICAL ELEVATION

PRODUCT:

JK
BY

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS| PART OR ASSEMBLY:

8/11/20 |UPDATE TO 7TH ED. (2020) FBC |DAC
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

NO., DATE

MmN

1

REVISIONS

DATE: 03/14/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15362.12

SHEET 1 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



\\dcOT\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.7-12.dwg

—-———-l.‘ff— 0.7" 2.8" =u'\-’
A EXTER!OR 1 .—-:
0.4 ~>[ R i 04" —=| |=—
5 '.‘._ 1‘. " - .;._:‘ i = h
KNOB: FI3 SERIES CAP (PVC)
HINGE STILE (LVL LATCH STILE
PAMEX | DEADBOLT:  FD2 SERIES CAP [PVC) (V) INTERIOR REINFORCEMENT (LVL)
/ 1"\ HORIZONTAL CROSS SECTION
\3/
EXTERIOR - GLASS B[TE 3/ 3
HOMERUN SEALANT 1/2" OVERALL
ODL HP LITE FRAME EXT. TTTGLASS THK.
READI-SEAL SEALANT ’ TOP RAL
35.75" PANEL g&gﬁMFERED (COMP.)
WIDTH I
1 AIR SPACE 16"
— 2:) f"(’;x' n f I\ _1/8" TEMPERED
g GLASS T
ODL HP LITE FRAME INT.
#8 X 1-1/2" PPH SMS ALUM SPACER
7 INTERIOR SIS Y
T @ GLAZING DETAIL RRE
E.: ‘/@
Z d T INEROR 7 EXTERIOR
T 3 d — #
o 2 04
2 2 3o
n = -~ b ?
N o N TN
J CHART | (POLYURETHANE - Jpes 3.
1.9 PCF MIN.) DR
o < " FIBERGLASS SKIN
ag 21 'l (0.075" MIN. THK.)\.f-:{ 7
325 B ’ﬁ-\ SIS .
(TYP.) BOTIOMRAIL  [lga:: - *

PLASTPRO FIBERGLASS DOOR PANEL

{Rectangular Glazed)

. DOOR SWEEP

{COMP.)

7“2\ VERTICAL CROSS SECTION

NEY

August 11, 2020

P.O. Box 230, Valrico, FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lynden F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

DUNBARTON
ACHEIVER STEEL FRAME
SYSTEM
DOOR PANEL DETAILS

PRODUCT:

DAC
JK
BY

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS]| PART OR ASSEMBLY:

8/11/20 | UPDATE TO 7th ED. (2020) FBC
3/23/T5 |UPDATE TO 5TH ED. (2014) FBC

3

1

NOJ DATE

N

REVISIONS

DATEQ3/14,/12

SCALE:  N.T.S.

DWG. BY: JK

cHk. B: LFS

DRAWING NO.:
FL-15362.12

SHEET 2 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



TON] SANVYLINSNGD aNIaTNg "My 2102 @

adtiiilsg

£186 ‘ON Aisiboy 3494 ; SNOISIAGA
L6LB'BS9'CLE 'ON euoyd SNOILO3S A8 31vd TONley N _
S6SEE 14 "OOMIDA ‘0£Z Xog "O'd \SV SS0HJ TVINOZIMOH AP 081 (¥10Z) ‘03 HIS OL 3vadn| si/gcz/c | L 1= |yl @] =D
‘ONI 'SINVIINSNOD ONIaTIng @ TXIGN3SSY ¥0 19vd [SAT| 089 (Z102) "0 ALY OL JIvadn [£1/6¢/6 |2 ||| |9 ]. & | &
RN, Ova| 84 (0z0¢) “03 W OL 3vadn| 0¢/11/8 [ € IS |2 £3 ||
oy, W0, 60vSy "N “Id LOVANI—NON, ONIMSNI RlLIE|ElgT
%.W/@....oo&om.... 7, IS 4 WOPUME o3, YIAFHOV  NOLYYENAQ Eld|¢lselEe|B
~ . % VN2 :Ag pespdeld sjuewnoog 110NA0Hd RS L %
: D 020Z '+ 1snbny
xi ¥ zZ~
b L eoveyoN S MW
\\\ .... g ﬂ/ ..... /." nA../.\
%, Q.\....._.‘mm.a.\.v.)oo Do
\\\\t WHOS 2 ¥ | &

T

e

7“3\ HORIZONTAL CROSS SECTION

|

0125 CSNK L @é .

zZ ,
=l . _
: m@/‘ 2 o
N : <
/ .
— @ <+
_w 2"
- )
o
® 5
- 3"
C ~
(& S
9 brd
o] Ol A
o S &g W
% % (§]Re <C
n Lol -2 Q ”
— ] Q o
= 5 =z 2 S 9
Oz (4 b 0
N < £ v
—t O W f’ >
od| 3 - {J
s = \«
[ 7]
= 2
wlm) B )
Jooe
o,
- @ S u @/ d
Ll <l <= : D7)
= < 3 P
Ll @ : ) a
L2 QL @ 3
- W b o
& ¢ = -2 @] :
. UM L ]
| (= 33 =
=E <
) 1 4 1 S
4 (@] 0
WB y -ll.l
mv a2
= 1y
o T o
[®]
o oA & _yvv > o mw ©
. - i Z G,
& - B ST R Gy & Ll —
> > I a¥ o . - %E
N A & : e 5 WQ [
VA > 4 n » b X = oo o}
. O [&] =z
Wm.d 2l 0l
Mw >
RN~
4
/ .
>~m
_M
o

E 5 3
3/
INTERIOR
EXTERIOR

(1)

SEE
NOTE 1

/ 1"\ HORIZONTAL CROSS SECTION

&
I =
D

CESP

BmpzL-£'79€51-14\M0202) 29€5L-T\sBuImeIq - D\aABIYDY pue Ynipay - 5100 1X3 Bulbuims - 2951 -14\sjeroiddy 3onpold epLOjS - Y\IUBUBWLIRG UOHRGUNA\SIUBID\IGMINLOIPA\

EMB. (TYP.)

1—1/4" MIN.




CON| SANVYLTINSNGOD anNiaing

ME 2108 O

€186 'ON Ansibey Idgd SNOISIAIN

L61L6°6S9°CLB 'ON ®uoyd SNOILO3S A8 31vd JONfq N 7_

S6GEE 4 ‘OOMIDA ‘0£Z Xog ‘O'd \§ SS0MD TYOLLHIA P 084 (¥10Z) "03 HIS OL 3vadn| si/cz/c| | 1T 3|l <
0_7___. _..@.zﬁ.smzoo oNIgling g« TENISSV 90 1vd [SIT| D8 (Z102) 03 A9 O JIVadn|Z1/62/6 |2 < | > |5| . S| s

Wiy, Ova| @4 (0202) a3 Ui 0L 3ivadn| 0z/11/8 [ ¢ |<|Z g8
///Mrw J<20\%¢¢ 6Obeb ON “T'd LOVAWI—NON, ONIMSNI {020¢) [LL S g lgle 2 ¥
NP ooy &Y%, pmuyog 4 uopusi|  ,S3, YIATIHOV NOLYVENNG S m delE Lim

~ o* . -~ - = Ol x M [y
S ‘Tonaoad HEIHEEEE

EXTERIOR

A\

(‘dAL) -an3 _
‘NIN ¥/ 1~ .

INTERIOR

-— MZ_W_O :m.N _..O

BO

EXTERIO

W

<

("dAL) ‘an3
NN v/ L—L

INTERIOR

7“2\ VERTICAL CROSS SECTION

W Shown w/1X sub-buck

71"\ VERTICAL CROSS SECTION

EXTERIOR

\\

INTERIOR

/" 3"\ VERTICAL CROSS SECTION

BMP'ZL-L29€51-14\(0202) 29€SL-1d\sBumeIq - D\IRABIYDY pue ynyipay - 51000 X3 BuiBuims - 29€5 L-T4\s|eroiddy 10npoid epLIOld - Y\lusueWIad UoHBQUNA\SIUBIID\IGMILODP\



"ON] SINVLINSNOD SNIgTing

‘MY 2102 O

*ONI

€186 ON Asibey 3dad SNOISIAZY

L6L6°6S9°CL8 "ON @uoyd (3L130IS) SNOLLO3S A8 31va_TON| o ~ 7_

S6SCC T4 ‘OOUIPA ‘0£Z Xog *O'd \Sv SS0d0 TVOLLYIA r 084 (¥102) ‘43 HIS Ol 3vadn| GL/ez/el L 1|5 x| o
‘SINVLINSNOD ONIaTING @ TKIGNISSV 90 14vd [S4T| 084 (Z102) 03 HI9 OL 3Ivadn|Z1/62/6 | 2 | = e2| > |5 L5
oval 0d4 (020z) "3 Y. OL 31vadn| 0zZ/11/8 [ € ||= 28 5~

60veY ‘ON ‘I'd :HO(&ENIZOZ.. ONIMSNI M . W W m -
IPIUYDS “4 uopuA] «S3, ¥IAJIHOV NOLdVENND nmu. m slelE LB
:Ag peJodely sjuewnoo( -LONA0¥d 518183 m ik

020¢ ‘L1 1snbny

»*
60V "ON

i >

("dAL) ‘an3
‘NN /L=

2
o
(i =
T
5 8
(¥]
Wl
ol
(7]
X3
- Q 2
(& ]x7
- =
Y|
Bz
x i m
o >S5
[ad
[Tl
D
("dAL) gn3 |
‘NN ¥/L—1
o
o
2
o~
o
o
i
rvw —— JINIS,D,SZ10 =
N ..y
o
o =
& Q
L (o
2
&
(7]
[ 7]
- O
[~%4
(¥
3
)
>
S =
A
b
z ms

/3 "\ VERTICAL CROSS SECTION

BmpzL-£29€51-13\(0202) Z9E5L-1d\sBumelq - D\snslydy pue Ynypay - s100Q 3 Butbuims - 29g5L-T14\s|eroiddy 1onpoid epLojd - Y\IUSUBWIRG UOLBGUNG\SIUBHD\IGMINLOIPA\




RAClients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020\FL-15362.7-12.dwg, 6.19

W Z
THRU FRAME & T,
W INTO MULLION AT QL o
E 2 g Qo.. % ,/ [
O Z ? oy : \: s A :’ i
& 3 ~ S: & 9 M-
= 5 X2 3 .49
o) ZOill ¢ X ISTTES
s 3 —-— —0'8 g &8sy Lo
o MULLIONTO HEAD DETAIL = &%~ < TNSEgax
& . . SEE HINGE 3 - W, RSEERL
ey e B 5. g i
: ‘ e ‘. d““/ ! 4 ‘ ‘ L 2t “ 4;/ ‘ ///I, oy 3\\\\\\ § dei‘
= I 1 1 ] _— R S R \ LA
"i'.‘.. i 1 | ] - e l I YA % sn . 3
e . ! ‘ P WA Rg[E £, £8,°
i = T T PR EACH \\ Q| §3 2o 58
A L e i Ny 2N Lm
e s — = . - CORNER r—=|* "« Dodu
S o ~ g T W/2X BUCK < 3 o P
- - = . = f INSTALLATION =T E & Bt 52 §
J J 2X = . 22 Ly
R0 o BUCK W/1X BUCK G 5 YIS
S o INSTALLATION o é 0
— s =
< = | — TWP.HEAD —f| ¥ i FRAME CORNER : 2
2X BUCK MULLION SHOWN | & JAMBS — AT HEAD s £
FOR REFERENCE T 1 qx DETAIL ATHEAD 5| §
ONLY MASONRY g T e | 8
.11 —1 OPENING —_ o3 Z
OPENING <2 |8 =
% z', |3l &
ik a -3 = Eg g <
. 2 - z =
] O I CE (4) TYP. 5122 |y &
s ‘ ° s EACH a3~ |4 3
Eﬂj — CORNER  |@ Z
m - m:n::a o. [a
L H — : — FRAME CORNER 0| |>-
LI S— L1 ] Fersie m— — N DETAIL AT SILL S|-|”|m
IR v‘\ R \ f 9l
SN v L T s
BUCK ANCHORING SIDELITE JAMB HINGE MULLION FRAME ANCHORING E STRIKE JAMB § g 0
NI
S
1 sl 2
CONCRETE ANCHOR NOTES: 25 9 ) 1X/BUCK =izl |2
1. Concrete anchor locations at the corners may be adjusted fo maintain the min. INSTALLATION NS o
edge distance to mortar joints. ololg| &
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo 5 wlw :
maintain the min. edge distance to mortar joints, additional concrete anchors LQT; g 5
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. A’I gl §
3. Concrete anchor table: 1/ 4 N
— — IS
THRU THRESHOLD. STRIKE DETAIL W/1X BUCK RENE
SILL PAD AND INTO A THRg SILL PgD / }ES a
W T e 1-1/8" o P MULLION. INTO MU @\ Y (®) 2X/BUCK o[- [S
TAPCON X LA INSTALLATION
DeWALT | . . - . MULLION TO SILL DETAIL (23)= :\:E oATE: 03/14/12
uiracon  V/ 1-1/ (WITH SILL PAD) i .*_@ scaE N.T.S.
W DWG. BY: JK
® L - " Wl ‘l _‘l A @
1ApcoN® | 3/16 1-1/ 8 / é’l o . LFS
WOOD SCREW INSTALLATION NOTES: 1 DRAWING NO.:
1. Maintain a minimum 5/8" edge g;;fance, 1"end distance, & 1" o.c. spacing of HINGE DETAIL STRIKE DETAIL W/2X BUCK FL-15362.12
wood screws to prevent the splitting of wood. —_—— e 6 o 7

------

© 2012 R.W. BuUiLDING CONSULTANTS INC.



\\dcOT\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.7-12.dwg

VAL 7)
\\\\\\ <k """" 4;//,/
S& O%
BILL OF MATERIALS . 07" S&- SO
ITEM # | DESCRIPTION MATERIAL l s Sg 8 é-.‘ __‘?_ g ﬁ
A__| 2XBUCKSG >= 0.55 WOOD T =5ig S« pEEZZo,,
B |1/4"MAX. SHIM SPACE WOOD & "5 g Q3P o5
C_[1/4"X3-3/4"DeWALT OR ITW PFH CONCRETE SCREWS STEEL = v NES T
H | 1/4'X2-3/4' DeWALT OR TW CONCRETE SCREWS STEEL i ',,/) R S ELE:
¢ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE Yy, X B Z 2
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 INSWING SIDELITE ity o8
L [1XBUCKSG >=.55 WOOD 52 fo ciR o~ 2.44" ——] sz g, 283«
P | #10x2-1/2"PFH WOOD SCREWS (1-1/8" MIN. EMBEDMENT) STEEL o 13" SIEs8 255w
8 | MULL PAD 4-9/16 BB ENDURA PVC ) ' <le 22 Baal
9 | 3/16"X 3-1/4"ITW PFH CONCRETE SCREWS STEEL S s 7 il o §
18 | POLY FIBER JAMB {World Wide Door Comp.] COMP 1| 4.56" 0S8 * e $
22 | #7 X 3/4" PFH SCREWS STEEL ,. e 199 o A I @%
23 | #9 X 3/4" PFH SCREWS STEEL G i l l p ik
24 | 1/4"X3-1/4" TW PFH CONCRETE SCREWS STEEL 9 i ? 1 ! 5,
25 | DEADBOLT STRIKE PLATE STEEL FYY L
0.406 |=— 2.188" — %
26 | LATCH STRIKE PLATE STEEL — ? ‘ i e | 3o
27 | HINGE STEEL 18) POLY FIBER JAMB . MULLION = | fE
28 | WEATHERSTRIP FOAM (World Wide Door Comp.) ég 5129
41| INSWING THRESHOLD (ENDURA] ALUM./COMP _ == |23
49| MULLION CAP STEEL 252" 9 22 18
50 | MULLION LVL . ‘ ] } NS
51 |#10X3"PFHWS STEEL r — I 215 |°
52 | INSWING SIDELITE SPACER PVC S _? T o= =
53 | #9X11-1/2"PFHWS STEEL 3 - -
54 | 3/8"X2"X.055" STAPLE STEEL S & S 2l x>
83 | 1/4"x2-1/4" ITW CONCRETE SCREWS STEEL o o N
i U " : 35
* : 98
N IS
J . MULLION CAP 4a 1 £
o lWig) O
’ g @
2 —~—2.248" — SEENH
) 2 Qe
© ==
: 5|88
_ | 438" - 2 ZEL
3 7.81" R
3 $ SN
IS8
JU——— ) O)}
2 R DATE:Q3/14/12
SCAE: N.T.S.
—i— THRESHOLD DWG. B:  JK
HOWN FOR
27 INSWING THRESHOLD MULL PAD gEISONLYO P
Endura . Spacer DRAWING NO.:
FL—-15362.12
SHEET 7 OF 7

© 2012 R.W. BUILDING DONSULTANTS ING.






